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10.

11.

21(BOMD 2 dlaxoiloel GOOAUIONM Gald :

(A) eodenligd (B) @o0ocud (C) (IO (D) elpmad
2020 -2 moasleydimes emosni@d mamomoe @AM eidlo@ ?

(A)  epmilgyHe) (B) ezMMland ag)@dumo

C) c0omd ealMenom (D) 210@M SOOMY

eadleam SedO@:0Fle: alodglwies allamo :

A) ®9a (B) 9@ (C) &gdmo (D) @om
0.B.O.R. agmaileng allemile dalo :

A) One Belt One Road (B) One Road One Belt

(") One Border One Road (D) One Border One Region

FDAOCREMIM ag)M @REB:0MORMTI@® @OCIWEQ|SIT ag)LIOmIBH00M :
A)  an@ladf (B) @3len@0d
(C) mnW o@. all : (D) allemow’ e®ommy

3080 BHelomemueleilm “Deemed university for Art and Culture” agym ateall aiélay)
UdaHo :
(A) 1968 (B) 20056 (C) 2006 (D) 2010

GlewoaodeSdadl ay®) Hellwimoll enimweqglaleaiom, ?
(A)  Gan0Hs) (B) aniseeniowd
C) (leeg (D)  enIOMId-@6NIOUD

enll.all. al0@d ®0e¥ alo@MAIR® ag)oma@oni enimuea|sldleniomy ?
(A)  waig allgjale (B) andl® allgjalo
(C) epeenesnddd allgjalo D)  cumGdHH06Mo

VSAT -aes alksmil® dalo.
(A) We Satellite (B) Very Small Aperture Terminal
(C) Venture Satellite (D) Vikram Sarabhai Atomic Centre

oR® EEEMERISMI BRBN@IWIEM (le)oEMoe m0elle:00IuRyBEl® oWWaa ST ?
(A) 85 (B) 86 (C) 87 (D) 88

2f)® HMUMISENS HUWOIEM MladgGl)es Male:a0@) aldlnemlenma ?
(A) 60 (B) 100 (C) 50 (D) 150
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12,

13.

14.

15.

16.

1%

183

19.

20.

@lojaflmoosycleel GRAIMOM(@IWIma((Blwle @lmesig/lelos epaymiaoTIwo
@lo)m sm®moal :
(A)  aloed Sl.ods. movowsmallgs  (B) algo ®o6Mya g

(©)  all. #yademalies (D) k. e

0 l6MBSlB BB OB Hal@eueMLETHIE @aylaeio oseElw alyem :
A)  moall@leow’ aneel (B) ®o00600) adicheraw

(C) ademil® eadedw) (D)  soadleowmoqudl

O0LJAUdatto BROBCEIHNME
(A) AD 825 (B) AD 925 (C) AD 875 (D) AD 765

DEQU (V]WoRMEMMOIaIMEMBEIGLIHE MSAMO|SIM @lossmmsiald saddemogo
oldaladleamae :

(A) e&(m mﬂmemsg% B0 aHd

(B)  motunom aleeenmsial e-aaflaviad

(C)  motmuoom qude6Id

D) esm mﬂmamsg% BABaHOG MMM 2LISH0

EDTYD BOEMORISMO BRBU@H 6).21QRME o@® QUdnja] @OMME 06 ?
(A) 365 (B) 368 (C) 360 (D) 268

‘808 BROAWM’ ag)MO :

(A)  aUIMIEcmeE® Alle:nmo

(B)  @mercuy-alleeom oownemsd G080 OB EMSETRWD
(C)  esm-alaid aymemled modl @od aleym eremo

(D) censHOTOR EDE) wloesmmsienaals eayemiql aomime

2019 -eal 8208500 (U0aOM BN MWa(ld:d00 AIAOMETINS @ONUd)® ©JalmoQo
QUOEIMAIDLENER ol ag)® ®lai@oe ?
(A) 3000 (B) 1000 (C) 10000 (D) 5000

WGEEP -@)6)s @owyesi
(A)  SmoBlocmd (B) aoowalmoawwlad
(©) gpan. all. pon (D) &l (@aod

Bspoen@y] afleialld cuom audao
(A) 1996 (B) 1997 (C) 1995 (D) 2000
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21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

©al08e08 MelamRee) calene] BB080E0 DB MVDAUBLI0000e! AlldMilg 6.2 SiE®
exmgfimo :
(A) agewoo 4 B) all.gl.aog@.9 (C) all. €. agy@d. 10 (D) oozl

RTGS -60@ aljdep ®lalo :
(A) Real Time Gross Settlement (B) Real Time General Settlement
(C) Real Time Gross Submission (D) Real Time Group Settlement

calogu@ aflajodsendd eoROE™ og)® 'PIN' Sledlwmeaoel @ldlafldenmmy ?
(A) 6 (B) 4 <€) 9 (D) 12

‘Somieadl@d’ a@pao dlea) Aleaue @audalli@o agym alleonamileelss) 686y 0UIE000
moaridegue eidle) @RE) eIog 2ll®o :

(A) eoloflmd (B) o)

(C) eoauld @ 5laljoamd (D) eoEle @RS
OWIRM al@laloeine@ons o fledley emmond :

(A)  2a0OER @OY)MDH:08) (B) @3 MORIWEMU0}
(C) @EPYEMID EUWIaloel (D) 2igmll cvoalldstd

cilieh eIy REIVMIETIM® ag)® P@ROMAIEN rVEREI ?
(A) 4% B) 2.7% (C) 3.6% (D) 25%

(@I @)0 aldhello BY8aIeRl B} AUbUEDI@ QUM SIMEBEOS ag)Ro :

(A) b iB) 6 (C) 4 (D) 2
aoladles ade0ew allalw eeamesol allesommaieaiss mly) osmis :
(A)  @R00BUI BBOENMDANOMMY (B) coga esmus

(C) enUoIRIE ©SMUS D) edmI@m ©smis]

2030 -@ eldHjo BMSIMENERIEHIWS @AM (Y @@ msafleoseym amdle
aflesmm elaeRsEl@d ag)® agep@oem o6 SO Tl HOME ?
(&) -1BiE T (B) 16 & 17 (D) 19

HamyD coEMeRISMWI@ aR®) U j06m alalw RoelaeonaBes algle:elad
OOSIET oBHBOHIM® ?
(A) 341 (B) 342 (C) 356 (D) 357

eI ag)® EBAINjoGeIODWB-aIeNS ?

(A) 10 (B) 5 (C) 20 (D) 12
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32. ®e¥ aloWMAIRI® @@ @oymoen (Erllesmilad OR6OQSOD 0RYo ?
(A) (enfigmd B) Eumilad (C)  Oayyy (D) ooy

33. ®06¢ aHOS)ATALNMEI®R H6 2B OORID MU a@®oem ?
(A) 1060 (B) 100 (C) 110 (D) 1098

34. 2019 -@ ‘eRI0SHOWIOL! a@QOllo NWEMWOW AUMI®’ agim Eandenimiaommild alSlesfl@d
oso allsly) 16 QU@ :
(A) eyl moeenud (B) eng ®o erudwy
(C) eoamy eI eenuwel (D) ag)®d. adl@awoad

35. QOWYOEW @VEYELIOBIOMD
A) =@floy eniorIesjademd (B)  =gdlny’ allmows]l almEeeaioa
C) agmn peeemicies (D) @oemo anqROe®

36. Identify the correctly spelt word :
(A) Quarantine (B) Quarentine (C) Quarantyne (D) Quarentein.

37. The Manager is ill and we’ll have to the meeting for a few days.
(A) put on (B) put of (C) put away (D) put off

38. She told me that she watching the movie.
(A) 1is finished (B) was finished (C) had finished (D) not finished

39. Choose the sentence which does not convey the meaning of the given proverb.
However long the night, the dawn will break.
(A) All the worries are temporary.
(B) The worries will never end.
(C) All the problems will be solved once.
(D) The bad things will end, the good time waits.

40. Which is the synonym of the word destination ?
(A) Early morning (B) Target (C) Fate (D) Trouble

41. Pick out the most appropriate set which gives the meaningful sentence.
(a) WHD is wearing the green churidar
(b) The girl who sells fruits
(¢) Is my sister
(d) In the market
(A (), ©, @), @ @B (), @, ®b), @ (€ (®), @, @, a D () (d), (b), (c)

42. Change the voice “People will admire him”.
(A) He will admire people. (B) People will be admired.
(C) He will be admired by people. (D) People would be admired by him.
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Read the passage carefully and answer to the questions given below.

Cinema is a medium of expression and communication. It was invented by Edison, an
American scientist. The cinema plays an important role in the social, moral, political and
economic life. D.G. Phalke, the father of Indian cinema produced the first Indian silenced
film “Raja Harischandra” in 1913. But the first film made in Kerala was Vigatha Kumaran by
J.C. Daniel in 1928. The era of talkie films started in 1931 with the producing of Alam Arah.
India is the largest producer of feature films in the world. The films are certified by the
central board of film certification. Cinema is a source of entertainment, knowledge and
employment even though the sex and violence portrayed in it contaminate the minds of the
people. The objective of films should be to educate, modify and to bring unity and harmony
among the people. Cinema is a film that is a story recorded as set of moving pictures to be
shown on screen of a theatre house and Television.

43. Who is considered as the father of Indian cinema ?

(A) Edison (B) J.C. Daniel
(C) Vigatha Kumaran (D) D.G. Phalke
44. Which one of the following is not an objective of film ?
(A) Education (B) Contamination of the mind
(C) Communication (D) Entertainment

45. Which is not the synonym of the word portrayed given in the paragraph ?
(A) Illustrate (B) Representation (C) Modeling (D) Colouring

46. (oyalgoe® alless ag®oem ?
A)  udlnoadle:  (B) mldegudls (C) oeaUlH: (D) oWl

47. @09l + 2108l — GoIBOEBLIBYE:.
(A) &0slalos] (B) &0glalos] (C) &0slg409] (D) &0Slermuos]

48. ®96% alo@IMEI@ a@®o6m Guoaljadialo ?
(A) o (B) oo (C) mami (D) &0

49. ©ODMYo Bxyasiemmyo. — MDY W(AIGYWo aR®OEN) ?
(A) @0 (B) oo (C) @n (D) mye

50. SO altry alo@d ®@0. — 0D UIBETIea Qllertayiemo oR@O6Mm ?
(A) oty (B) 0@ (C) alomd (D) ®op

51. *‘@ooalemmo oGeioeo @2l0BlaI0eE:06M30a)
omewemem allgla Heenm
26OFO0) DOMON) dB:)S1QAENSDAL
M CLOBVELOEMOBSIRIHHOM.”
— 06g0r 2O®IQS ag)(M} alOWMIOOWIEM ?

(A) eogflad @0oaH (B) 0oeiwog 8oy
(C) mal¥ @ax (D) MoMidh)® @JaH
A v 101/2021 - M
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1
52. "@0m” o) alGo @l l®oosydl® ©o)dlenmememamwos ?
(A) @ocum (B) e&om (C) emom (D) ol
53. &0 alBo ®ONM BEAAETIM QeI alEy® T @DUABIHH;0M LIOBEBIAHO @6 ?
(A) 98MmalBo (B) @owldalco (C)  mymaico (D) avealeo
54.  @nalleoembasmueiasmiele oo agam @semm 0IMNETIOQ d1Rl®monod6em ?
(A)  aloDgo e)ds.all. (B)  oenmileengm emiyeomd
(C)  od.mil. et llgs (D) ossd
55. @@l ag)m AIoBsilend @dloo agmoe ?
(A) esmoplo (B) audcumo (C) oy (D) ®an
56. A, B agyomilaud ee) dualimauneiomy oy mseaod @ooEle)). A, 3 &leaodlgd AISeH0s
ofleos] cueleEmes @ldlenmeratio 4 #l6e0algd @emog’ msmy. B, alslemmosnos
5 #leaiodlg® msmaimy ewato AueisamOS @idlemr 3 Hrleendlngd mseeyMm). ag)msld
B -ofl@ aflom’ A agy® gieowosny ?
(A) 13 &l (B) 16 »sl.ail. (C) 9 ®lal. (D) 10 &4
57. allgi@alow alBo @fil@loyclwd:.
PRT, , BDF, HJL, NPR
(A) VXZ (B) VYA (C) UWY (D) AXY
58. Qllg)@alow Mokl B:66MBETmw:.
9, 13, 15 &% 13, s £
A) 12 (B) 16 (C) 10 D) 17
59. &) allmoalla@uie asedwie dealoe (OWETOMR @OMIomo 6 : 1 @ven. ey
QUBHOBIMBUaHo @M I0®o 7 : 2 @RQ @200 eI AMHOM DG OPOMD (IOWo
ag)a® ?
(A) 10 cumy (B) 9 cuomy (C) 6 uway (D) 5 cuway
{f 4 >
60. ®O6Y alEWIM Vo6 Td 13 "Ml 5 - 0s@d ALEOEm Mo6ly ap® ?
8 = B 2 0 ° D) 2
@ 3 B) 3 © 3 D) =
61. 8%% -0 @eL@Ow Elam (osyyEE ?
25 3 1 1
@A % @ " o Q.55 ™
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62.

63.

64.

66.

67.

68.

69.

a:b=2:3, b:c=4:5 c:d=6:7 @0eem®l® a : d ag)® ?
A 2:7 (B) 7:8 (C) 16:35 (D) 4:13

120 digd dlames e} @lalensl 10 BRI ME@ 80} Galoglom acle:SHaIM). )81 @
asulrlon eun® agl® ?

(A) 40 &.0)./aendleand (B) 43.2 ®).0./aemlead

(C) 45 #.00./oendlead (D) 42.5 ../ aemiloed

e} Uy 350 oIg) alldesnmaleyes, 340 g alldenmaiemendd 5% BSIIED
eneo enslwod aiqualed @wodma allel ag@ ?
(A) 50 @)l (B) 160 @yl (C) 200 @yl (D) 225 m)ad

80} (Bloeg Helenonid eoey osmid 180 osmmlo, eenzoneEmEI@ 258 Osmdmvio BMS.
agy@@ aymoo esgyld agi@ osmay MO @EGAOEBTIOM MM HSEGEIGRIW]o
(0EO0dE MIEH:ID 230 OeMM @0 ?

(A) 219 (B) 242 (C) 334 (D) 252

069 B0sOBdleMURIM ag@ievsn adeiondd 2150867 (ald000 @M@ ?
(A) @O eloal (B) qQie00e g el0oal

(C) aflnialode eoal : (D) DO evoal

Which among the following is the lamp that gives light by heating a filament ?
(A) Arc lamp (B) Fluorescent lamp

(C) Discharge lamp (D) Incandescent lamp

Heei00le meNEElo) @rSImaoMETEI® agrle alldha) EDMWMAOWS] EHEMBHIBEHOCS-
M@ a@@®em ?

A)  mil.ag)od.edl. (B) ag@.all.edl. (C) dlewaid (D) eeanwRM
Which can be considered as the best fuel in terms of calorific value ?
(A) C.NG i) L.P.G. (C) Methane (D) Hydrogen

(eruoerd agndzdl alleonEmi@anSyEmon,m ©DALRBTVODMVIEN) :
(A) @mogdd e (B) aSl@ ag)delad

(C)  ©6a0GWIEDRISSIH: alud (D) e6sw@ agmnded

The energy source that can be classified as brown energy :

(A) Solar cell (B) Diesel engine
(C) Hydroelectric power (D) Tidal energy

®oalrleiwes @rslauoom @enigoen :
(A)  e@dauymy (B) anoomadlgy (C) ed@alld (D) SOMmael

The base unit of temperature is :
(A) Celsius (B) Fahrenheit (C) Kelvin (D) Candela

9 101/2021 - M
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70.

Tl

72.

73.

74.

75.

OOLBYEMOIDBRO BOSHHIMAIBRIUT BN Haldhoemaoa) :

(A)  eodgdlgd (B) @moodlgd

(C) cuog @ocud alnd (D) womdcuemoalnd
The instrument used to measure electrical energy :

(A) Voltmeter (B) Ammeter

(C) Watt hour meter (D) Galvanometer

wasgleldl agaaie mmoell (aiedudlafleemmm seidado :

(A) gJoglme (B) ecugs (C) epmymi D) eaumi
The metal that best exhibits ductility :
(A) Platinum (B) Silver (C) Iron (D) Copper

@06 6@BHISIAMIBILHMAUB oR®) (B HaIEWIW]206m eOMS]H: @Ml
QoMW H000 o®atodla/lenma ?

(A)  eaneeId (ad@lw (B) eomicuomdal (ali@sle

(C) mrUdHS (ol (D) allesoemdmy (ali@sle

Which among the following processes is commercially used for the preparation of nitric
acid ?

(A) Haber process (B) Ostwald process

(C) Contact process (D) Deacons process

MOR(BIUBSEBI@ (@080 (llw) @rserlRidlenim dluylmo :

(A) HCl: HNO; (B) HNO4: H,SO, (C) H,S80,:HCl1 (D) HCl: H,C,0,
Aqua regia 1s a mixture of :

(A) HCl:HNO; (B) HNO,:H,S0, (C) H,S0,:HCl (D) HCI: H,C,0,

B ISMVO(EHREM MLIBEBIM HBIOMEMAIEN) :

(A) Sc (B) Cr (C) Mn (D) Zn
An exainple for a pseudo-transition element is :
(A) Sec {B) Cr (C) Mn (D) Zn

pH miesoileld anemg|oo mosly@:806m 98a® ?

(A) 0 moad 10 Aue (B) 7 mymad 10 cuew
(C) 0o 14 cuew (D) 7 qyoad 14 oo
What are the numbers present on the pH scale ?

(A) Oto10 (B) 7to10

(C) 0Otol4 (D) 7tol4
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-1

-1

@M aR® ERAIA) AYAMAO® EOWIBHIM ®BH06M ?

(A)  GadM Qlyaima (B) @ooudl ayoimo
(C) 08 aly@M QIO (D) moadl Ayl
Arthritis is the disorder that affects :

(A) Digestive System (B) Skeletal System
(C) Blood Circulatory System (D) Nervous System

80) MYGIeWONOSAUlOM RISERM :

(A)  aJ6rUMON, HOMSRMD GeNIM

(B)  al6r@MO0, GanoMiGaq

(C)  al6emUMO, GaodMeanq, HOM(SERM GenIm
(D) eemERM G, c&noau”cxnﬂg“

The components of a nucleotide :

(A) Sugar, Nitrogen base

(B) Sugar, Phosphate

(C) Sugar, Phosphate, Nitrogen base

(D) Nitrogen base, Phosphate

20l®e> altd (genetic glue) agMOIQHASIOM ag)dee o :
(A) ellenmy

(B)  ag)mMdeanomysle@my

(C)  SOMElB5aumd ag)BEuwomyRsle M

(D) ©6anBEWIGRIMY

The enzyme known as ‘genetic glue’ :

(A) Ligase

(B) Endonuclease

(C) Restriction endonuclease

(D) Hydrolage

2caIdlQ GEONMEIM) H0eMmAow aueyslal :

(A)  (UeSaiEROEIHOHM (B) ag)Rdlen
(C)  ©60CMINOUOMY (D) gJomicmouwlwo
Name the causative organism of Malaria.
(A) Streptococcus (B) Entamoeba
(C) Rhinovirus (D) Plasmodium
11 101/2021 - M
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80.

81.

82.

83.

84.

85.

OOFIMQAG (aie0mdatleelejonm oMo :

(A)  almenlioz) (B)  @oowenilas)

(C)  eagdlmy (D)  saewomMag)
Name the part of retina that has no photoreceptors.

(A) Yellowspot (B) Blindspot

(C) Iris (D) None of the above

4 enllg awog @rclweqsimae :

(A)  leenossnug (B) Dsla) (C) ollendlcd (D) eo0cHHIDAW
A group of 4 bit data is known as :

(A) Kilo Byte (B) Byte (C) Nibble (D) Record
@069 c2ldonigeaniel@ ealogaag@ aamd agmost ?

(A) 0920 (B) &am eewal

(C) @020 (D)  ano®dW awlonyes

Which of the following is volatile memory ?

(A) RAM (B) Pen drive

(C) ROM : (D) Hard disk

@@6M RBOMFOR allmoat agym @pdlea|s)mae ?

(A) 2100 enuoGenIE (B)  alla qudad

(C)  20odss) meedenidyy (D) md alloeg)

Who is known as father of internet ?

(A) Charles Babbage (B) Vint Cerf

(C) Mark Zuckerberg (D) Sundar Pichai

SSH -e@ aydepaiaio :

(A)  ©aVEUd AD anent (B)  omuaudlgl enad mdaud aoent

(C)  mdUd MVERD anen ! (D)  OaVed OaUa

SSH stands for :

(A) Secure Server Hub (B) Security in Server Hub

(C) Server Secure Hub (D) Secure Shell

agiaoileg mafluy eegenomes @yemigosm MIPS ?

(A) eomol (B)  (aNl@d (C)  @lauommud (D) odm
The unit MIPS is used to measure the speed of )

(A) Memory (B) Printer (C) Processor (D) Mouse
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86.

88.

89.

90.

91.

A

epdewoa aldla] 9 a@® Gaidlensm @RCIWORSIME® ?

(A) Hlgeoq (B) eenellgaldal
(C) aoadiemeg)d (D) e6al

The android version 9 is known as :

(A) KITKAT (B) LOLIPOP
(C) MASHMELLOW (D)= PIE

=pacmosien saoim @omilmgad :

A) el (B) oquAl@d @omiloigad
(C) ago (D) il

What is the voice assistant of Amazon ?

(A) Alexa (B) Google Assistant
(C) M (D) Siri

ol @ ey m0myB@Id@ avog egyod O.2IYPME aR® ®o Bmiysd eaomclel-
eloem’ ?

(A)  a0odal adlomids (B) 6l eewal

(C) @0d0 (D) ol

In which computer memory, data are stored in the form of pits and lands ?

(A) Hard disk (B) Pen drive

(C) ROM (D) CD

‘SDR@’ Halaflwo GlatommMGIm melmOw ‘ag)agioll’ Blalommd ag® ?

(A)  ee0mend (B) @omeeIosn (C) emosioemd (D) 6anemdo

What is the ‘AMD’ processor equivalent to ‘Intel’ Pentium processor ?

(A) Ryzen (B) Athlon (C) Sempron (D) Phenom

OO mo@gmmmﬂm’b o@®o6m RdOMAILOS HMIRS W EREmIGRIHE ag)@mym

e0DE00dEDaHMD adl@Sd 621900 OaleOUleeME ?
(A)  Beslmy B) @o@escion (C) an@dOW (D) o0

Which of the following is used to filter the information coming through an internet

connection to a eomputer system ?
(A) Cookies (B) Antivirus (C) Firewall (D) Router

BHUWONOYAOW FRIMWOR|S®Ee (VI@oE)N1MOW UBNIEHH(®O aR®Oe ?
(A) ®dl wWloues:H(®o (B) 68m05lQd vdloics(@o
(C) eeusno UBloeH:H|(®o (D) @eeyllajioo wlaiess(@o

EM0aIOMMoIOAT@ Haleoulleanm EEAIAIOG) al® ?
(A) ealens (B) dn)ead (C) sos@ (D) aGso

13 101/2021 - M
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93.

94.

95.

96.

97.

98.

99.

100.

alladiemesu(@@T@ 6.216Q e (aIcHlemETion agsRo ag® ?
A 1 (B) 2 (C) 3 D) 4

njoalaleaEOMmA allmyEe@aNITlal) alOBTMHIOBISYOD GOIQMOW EREIWO-
2100y @R ?

(A)  aigmil coalesdd (B) @3 MOMOQEMUIEBEAIMD

(C)  @ERUNDIMIBMOETD (D) almomasquoalsad

O3 PBA02IBYD @aslio ®alla) alElOMOIMOROED Oaltflat® o@® ?
(A) @ MOBOWEEMIlMlay®) (B)  &elauamoeemoalmilau®)
(C) CWI®IN®EOIaIMaU® (D) @RSUDOCLIOallaH®

HMOOM — a@B0BUE EBERAT@ ERILOSIME a@® Galdlad ?
(A)  OMBOHO — aRe-0RU B) 0B — aREOCUT]
(C) moORId — afd0cUd (D)  ©OUUIEU — afe0GUE

(nilavm® aloemell @aooallaemses(@o a® eaalmMjo Geniodasimy &l¥leoem ?
(A) oelenod eaImMlo @erIodY

(B) e&04]l eaaumlo @enIOdU
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